
In silico analyses I 

 

1. Anaerococcus vaginalis vs. Anaerococcus tetradius 

 

ROI 1 

 

 
5 SNPs on 148 nt = (148-5: 143)/148 * 100 = 96.62% similarity 

 

 

ROI 2 

 

 

15 SNPs on 150 nt = (150-15: 135)/150 * 100 = 90.00% similarity 

 

 

ROI 3 

 

 

12 SNPs on 153 nt = (153-12: 141)/153 * 100 = 92.16% similarity 

 

 

 



ROI 4 

 

 

5 SNPs on 146 nt = (146-5: 141)/146 * 100 = 96.58% similarity 

 

 

ROI 5 

 

 

6 SNPs on 145 nt = (145-6: 139)/145 * 100 = 95.86% similarity 

 

2. Anaerococcus tetradius vs. Peptostreptococcus anaerobius 

ROI 1 

 

14 SNPs on 148 nt = (148-14: 134)/148 * 100 = 90.54% similarity 

 

 

 

 

 



ROI 2 
 

 

42 SNPs on 149 nt = (149-42: 107)/149 * 100 = 71.81% similarity 

 

 

ROI 3 

 

 

17 SNPs on 145 nt = (145-17: 128)/145 * 100 = 88.28% similarity 

 

ROI 4 
 

 

20 SNPs on 146 nt = (146-20: 126)/146 * 100 = 86.30% similarity 

 

 

 

 



3. Peptostreptococcus anaerobius vs Gardnerella vaginalis 

ROI 1 
 

 

25 SNPs on 148 nt = (148-25: 123)/148 * 100 = 83.10% similarity 

 

ROI 2 
 

 

95 SNPs on 148 nt = (148-95: 53)/148 * 100 = 35.81% similarity 

 

4. Gardnerella vaginalis vs Prevotella buccalis 

ROI 1 
 

 

87 SNPs on 150 nt = (150-87: 63)/150 * 100 = 42.00% similarity 



ROI 2 
 

 

35 SNPs on 138 nt = (138-35: 103)/138 * 100 = 74.63% similarity 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



In silico analyses II 

1. Comparison of V3-V4 variable regions 

 

 

37 SNPs on 410 nt = (410-37: 373)/410 * 100 = 90.97% similarity 

 

 

2. Comparison of the five ROIs from V5 – V9 variable regions 

 

 

ROI from VR V7 

 

 

2 SNPs on 150 nt = (150-2: 148)/150 * 100 = 98.66% similarity 

 

 

 

 



ROI from VR V8 

 

15 SNPs on 150 nt = (150-15: 135)/150 * 100 = 90.0% similarity 

 

 

ROI from VR V5 

 

91 SNPs on 151 nt = (151-91: 59)/151 * 100 = 39.0% similarity  

 

ROI from VR V6 

 

84 SNPs on 148 nt = (148-84: 64)/148 * 100 = 43.2% similarity  

 

ROI from VR V9 

 

 

88 SNPs on 148 nt = (148-88: 60)/148 * 100 = 40.5% similarity  

 

 


